N = 590 N = 591 N = 592

590 circles in acircle 591 circles in acircle 592 circles inacircle

radius = 0.038164291242  density = 0.859342744342 radius =  0.038131879181  densi

& radius = 0.038095210632  density = 0.859137083278
ratio = 26.202504159163  contacts = 1356 ratio 26.224776262752  cont a

ratio = 26.250018923832 contacts = 1376

N = 593 N = 594 N = 595

593 circles in acircle 594 circles in acircle 595 circles in acircle

radius = 0.038003875139  density
act

radius = 0.038058389601  density = 0.858925524292 DI radius = 0.038030975455  density = 0.859134925862
422 382 ratio = 26.313106132823  cont

ratio = 26.275415499103  contacts = 142 ratio 26.294355799225  contacts = 138:

N = 596 N = 597 N = 598

596 circles in acircle 597 circles in acircle 598 circles inacircle

radius = 0037987100202  density = 0.860039793991 D radius = 0.037946427852  dens

il it radius =  0.037902285348  density = 0.859076774310 DEsmn
ratio = 26.324725823237 contacts = 1333 ratio 26.352941676098  cont ac

ratio = 26.383633356347 contacts = 1352

N = 599 N = 600 N = 601

599 circles in acircle 600 circles in acircle 601 circles in acircle

radius = 0.037872090990  d
ratio = 26.404668288821  c

0. 859142870306 DI radius = 0.037854448281  density = 0.859775552795 DEse radius = 0. densi t
1334 ratio = 26.416974633386 contacts = 1421 ratio = 26.452546620425 contacts

1459



